
 

PROBLEMS
8.1 Cost and Production Functions. The total product curve shown here describes a production system in which X is the only variable input. Answer the following questions relating produc​tion to costs:
234 Quantity of input (X)
Quantity of output (O) 70 -
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A.
Over approximately what range of input X will marginal costs be falling if F\ is not
affected by the amount purchased?
B.
At approximately what level of employment of input X will average variable costs be min​
imized?
C.
If Px = $25, what is the minimum average variable cost in this production system1
D.
What is the marginal cost of production at 60 units of output?
E.
If the price of output is S2 per unit, is employment of 3 units of X optimal for a pro*1
maximizing firm (assuming again that X costs $25 per unit)? Explain.
Determine whether each of the following is true or false. Explain why'
A.
Average cost equals marginal cost at the minimum efficient scale of plant.
B.
When total fixed cost and price are held constant, an increase in average variable cost W>
tvpicallv cause a reduction in the breakeven activity level.
